The Number Systems & The Bible

By: David A. Sargent

Character (Char) Count for Decimals (Dec) and their equivalents in Binary (Bin) and Hexadecimal (Hex) to the double digit in Hex:

Char	Dec	Bin	Hex
1	0	0	0
2	1	1	1
3	2	10	2
4	3	11	3
5	4	100	4
6	5	101	5
7	6	110	6
8	7	111	7
9	8	1000	8
10	9	1001	9
11	10	1010	Α
12	11	1011	В
13	12	1100	С
14	13	1101	D
15	14	1110	Ε
16	15	1111	F
17	16	10000	10

Notice the Bin column holds a key where the number 1 shows up single; doubled, tripled and then quadrupled and their Dec equivalences.

The Dec numbers 1, 3, 7 are of particular note. Also notice that the Dec 1 is the 2^{nd} Char and that 1 + 2 = 3 which is the next numeric in this series. Then notice that Dec 3 is the 4^{th} Char and that 3 + 4 = 7 which is again the next numeric in this series. Not the series continues where the Dec 7 is the 8^{th} Char and that 7 + 8 = 15 and that is the next Dec numeric in this series again.

This series continues throughout the number systems and shows a unique pattern between Dec and Bin. The pattern also holds for the Hex as the last single digit in Hex is "F" and is equal to the BIN 1111. This created the code for machines where the BIN used 8 character digits as a Byte; with the first half of the BIN 4 digits representing the first character digit of the Hex and the last half of the BIN 4 digits representing the second character digit of the Hex. Thus the numbers 1 to 7 all would have a leading 0(s) to make all 4 digits. Dec 1 in Bin would be 0001 and Dec 2 would be 0010, etc. The Dec 16 would have leading 00010000; as Dec 0 would be Bin 0000.

All number systems hold a connection to each other because the design was the Lord God Almighty who created all things for His pleasure.

Revelation 4:11, "Thou art worthy, O Lord, to receive glory and honour and power: for thou hast created all things, and for thy pleasure they are and were created." And Colossians 1:16, "For by him were all things created, that are in heaven, and that are in earth, visible and invisible, whether they be thrones, or dominions, or principalities, or powers: all things were created by him, and for him:"

Dec											
Х3											
3	Χ	37	=	111	&	1+ 1+ 1=	3	÷	3	=	1
6	Χ	37	=	222	&	2+ 2+ 2=	6	÷	3	=	2
9	Χ	37	=	333	&	3+ 3+ 3=	9	÷	3	=	3
12	Χ	37	=	444	&	4+ 4+ 4=	12	÷	3	=	4
15	Χ	37	=	555	&	5+ 5+ 5=	15	÷	3	=	5
18	Χ	37	=	666	&	6+ 6+ 6=	18	÷	3	=	6
21	Χ	37	=	777	&	7+ 7+ 7=	21	÷	3	=	7
24	Χ	37	=	888	&	8+8+8=	24	÷	3	=	8
27	Χ	37	=	999	&	9+ 9+ 9=	27	÷	3	=	9

This would include the number system. The fact that our decimal system is designed after the count of fingers on our hands because our hands are like His hands and figures. Psalms 8:3-9, "When I consider thy heavens, the work of thy fingers, the moon and the stars, which thou hast ordained; What is

man, that thou art mindful of him? and the son of man, that thou visitest him? For thou hast made him a little

lower than the angels, and hast crowned him with glory and honour. Thou madest him to have dominion over the works of thy hands; thou hast put all things under his feet: All sheep and oxen, yea, and the beasts of the field; The fowl of the air, and the fish of the sea, and whatsoever passeth through the paths of the seas. O LORD our Lord, how excellent is thy name in all the earth!" Even though this is about all men; it has a direct application to the Lord Jesus Christ: Hebrews 2:6-9, "But one in a certain place testified, saying, What is man, that thou art mindful of him? or the son of man, that thou visitest him? Thou madest him a little lower than the angels; thou crownedst him with glory and honour, and didst set him over the works of thy hands: Thou hast put all things in subjection under his feet. For in that he put all in subjection under him, he left nothing that is not put under him. But now we see not yet all things put under him. But we see Jesus, who was made a little lower than the angels for the suffering of death, crowned with glory and honour; that he by the grace of God should taste death for every man."

Numbers are therefore uniquely understood by a natural law found in the

	7						
	11		357				
Х	13	X	1001				
	1001	357357					

number system. The number systems hold certain keys that unlock other mysteries some are found in the Bible. These things show a creative order and a mind behind all things. There is no accidental random

explanation of the origin of matter; and matter is not eternal. There are some amazing things found in the number systems and one example of this are the numbers 7, 11 & 13. The trick is to multiply any three digit number by 7 and then by 11 and then by 13; and you will get your original number twice over in six digits. This is because the number 1001 is the binary for 9 which is the number for fruit in the Bible. Also these numbers represent the first three numbers that do not divide 360 with a whole number. Now think of a circle

360	÷	1	=	360
360	÷	2	=	180
360	÷	3	=	120
360	÷	4	=	90
360	÷	5	=	72
360	÷	6	=	60
360	÷	7	=	51.43
360	÷	8	=	45
360	÷	9	=	40
360	÷	10	=	36
360	÷	11	=	32.73
360	÷	12	=	30
360	÷	13	=	27.69

of 360° and divide it by all the numbers from 1 to 13. These numbers represent yet another series of numbers that show up in yet another number system called binary. There are only two characters in binary: "0" & "1".

	- · · · · I	<u> </u>		
Char	Dec	Bin	Hex	Chr + Dec
1	0	0	0	
2	1	1	1	3
3	2	10	2	
4	3	11	3	7
5	4	100	4	
6	5	101	5	
7	6	110	6	
8	7	111	7	15
9	8	1000	8	
10	9	1001	9	
11	10	1010	Α	
12	11	1011	В	
13	12	1100	С	
14	13	1101	D	
15	14	1110	Е	
16	15	1111	F	31

This is for machines to communicate because all a machine can know is either it is ON or OFF. ON is "1" and OFF is "0". That means a machine knows what a lamb knows. Now if you had 8 lamps with a set of ONs and OFFs; then you can communicate using these sets of 8 lamps.

An example of this is the continuity between our decimal system, the binary system and the hexadecimal system. There is no randomness to these different numeric systems and how they coincide with each other. The numeric sequence found between these systems is unprecedented and hold the essence of a pathway to the numeric understanding of the Bible.

That sequence is seen as 1, 3, 7, 15, 31, 63, 127, 255 & 511; etc. This path is seen as the numbers in the Bible of

significance in dealing with this sequence. The first three numbers in this series are the bases for all things and is the construct of 1 John 5:7, For there are three that bear record in heaven, the Father, the Word, and the Holy

Ghost: and these three are one." For something or someone to be described as 3 = 1 is to be defined as infinite (∞) or infinity. This is because 3 does not equal 1; nor does 1 = 3. However, as a Bible believer; we are to maintain that the Bible is without error and in dealing with the Godhead; we know that there is nothing and no one like unto our God. Exodus 8:10, "And he said, To morrow. And he said, Be it according to thy word: that thou mayest know that there is none like unto the LORD our God." and Psalms 113:5-6, "Who is like unto the LORD our God, who dwelleth on high, Who humbleth himself to behold the things that are in heaven, and in the earth!"

So how or what would you liken God to? How could anyone number a being that is infinite? The simplest answer is that God is without number: without beginning and without end. The statement 3 = 1 would then be the implicit statement about the Godhead and only the Godhead. As you cannot say this about a human being even though we are 3 parts of 1; which could be seen as $\frac{1}{3} + \frac{1}{3} + \frac{1}{3} = 1$. However the statement 3 = 1 is far superior to this. It is a statement that says 1 + 1 + 1 = 1. In this mathematic enigma is found the Triune Godhead.

X	1	2	3
1	1	2	3
2	2	4	6
3	3	6	9
3	3	6	9

The seemingly more true statement of $1 \times 1 \times 1 = 1$ is not the same statement found in 1 John 5:7. This is because 3 = 1 has 2 sides of the equation where the value on the left side of the equals there is three; the statement $1 \times 1 \times 1 = 1$ could never equal 3. This can be represented as 1^3 which is equal to 1. The rule is that anything times 1 is that original number. This can be seen in an array where $3 \times 3 = 9$; $1 \times 3 = 3$

Now in our finite understanding and in dealing with this as a FACT we must understand that IF (and there is no doubt in my mind!) 3 = 1 then 1 = 3. It stands to reason that these statements are not the same but both must be true for the first to be true. If then these are true than any combination of the 3 is also equal to the 1. Thus this can be said of the verse:

- 1. The Father is 1 = 3 & 3 = 1
- 2. The Word is 1 = 3 & 3 = 1
- 3. The Holy Ghost is 1 = 3 & 3 = 1
- 4. The Father & the Word are 1 = 3 & 3 = 1
- 5. The Word & the Holy Ghost are 1 = 3 & 3 = 1
- 6. The Father & the Holy Ghost are 1 = 3 & 3 = 1
- 7. The Father & the Word & the Holy Ghost are 1 = 3 & 3 = 1

Thus we have our first three constructs of the number series 1, 3 & 7. Now because there are 7 of these the statements can now be seen as:

- 1. The Father is 1 = 3 = 7
- 2. The Word is 1 = 3 = 7
- 3. The Holy Ghost is 1 = 3 = 7
- 4. The Father & the Word are 1 = 3 = 7
- 5. The Word & the Holy Ghost are 1 = 3 = 7
- 6. The Father & the Holy Ghost are 1 = 3 = 7

Because: $3^{|3|} = 27$

7. The Father & the Word & the Holy Ghost are 1 = 3 = 7

But this just does not explain what that would mean because there are 27 variations of the numbers 1, 3 & 7.

This is because 3^3 =27. Just so happens that this is the number of books in the New Testament. So
the list would be:

Of these numeric combinations is seen the Triune Godhead and His infinite Majesty that far surpasses just a number like 1. Saying there is ONE God is not actually saying much. James 2:19, "Thou believest that there is one God; thou doest well: the devils also believe, and tremble." The fact that this is a true statement is meaningless in light of WHO believes it. Just believing that there is one God then is just NOT enough. If it were enough; then why is this verse in the Bible? Notice that in Ecclesiastes 4:12, "And if one prevail against him, two shall withstand him; and a threefold cord is not quickly broken." This is talking about persons; the cord is these that are in accord together. The truth is better than a witness of one.

Deuteronomy 17:6, "At the mouth of two witnesses, or three witnesses, shall he that is worthy of death be put to death; but at the mouth of one witness he shall not be put to death." And Deuteronomy 19:15, "One witness shall not rise up against a man for any iniquity, or for any sin, in any sin that he sinneth: at the mouth of two witnesses, or at the mouth of three witnesses, shall the matter be established."

Matthew 18:16, "But if he will not hear thee, then take with thee one or two more, that in the mouth of two or three witnesses every word may be established." And 2 Corinthians 13:1, "This is the third time I am coming to you. In the mouth of two or three witnesses shall every word be established."

1 Timothy 5:19, "Against an elder receive not an accusation, but before two or three witnesses."

Hebrews 10:28-29, "He that despised Moses' law died without mercy under two or three witnesses: Of how much sorer punishment, suppose ye, shall he be thought worthy, who hath trodden under foot the Son of God, and hath counted the blood of the covenant, wherewith he was sanctified, an unholy thing, and hath done despite unto the Spirit of grace?" and Hebrews 6:16, "For men verily swear by the greater: and an oath for confirmation is to them an end of all strife.

Wherein God, willing more abundantly to shew unto the heirs of promise the immutability of his counsel, confirmed it by an oath: That by two immutable things, in which it was impossible for God to lie, we might have a strong consolation, who have fled for refuge to lay hold upon the hope set before us: Which hope we have as an anchor of the soul, both sure and stedfast, and which entereth into that within the veil; Whither the forerunner is for us entered, even Jesus, made an high priest for ever after the order of Melchisedec."

Psalms 110:4, "The LORD hath sworn, and will not repent, Thou art a priest for ever after the order of Melchizedek." And Hebrews 5:6, "As he saith also in another place, Thou art a priest for ever after the order of Melchisedec." And Hebrews 7:17, "For he testifieth, Thou art a priest for ever after the order of Melchisedec." And Hebrews 7:21, "(For those priests were made without an oath; but this with an oath by him that said unto him, The Lord sware and will not repent, Thou art a priest for ever after the order of Melchisedec:)"

John 8:13-19, "The Pharisees therefore said unto him, Thou bearest record of thyself; thy record is not true. Jesus answered and said unto them, Though I bear record of myself, yet my record is true: for I know whence I came, and whither I go; but ye cannot tell whence I come, and whither I go. Ye judge after the flesh; I judge no

man. And yet if I judge, my judgment is true: for I am not alone, but I and the Father that sent me. It is also written in your law, that the testimony of two men is true. I am one that bear witness of myself, and the Father that sent me beareth witness of me. Then said they unto him, Where is thy Father? Jesus answered, Ye neither know me, nor my Father: if ye had known me, ye should have known my Father also."

These are the two immutable things that bear record of the Lord Jesus Christ: and the third is: John 14:17, "Even the Spirit of truth; whom the world cannot receive, because it seeth him not, neither knoweth him: but ye know him; for he dwelleth with you, and shall be in you." And John 15:26, "But when the Comforter is come, whom I will send unto you from the Father, even the Spirit of truth, which proceedeth from the Father, he shall testify of me:" John 16:13, "Howbeit when he, the Spirit of truth, is come, he will guide you into all truth: for he shall not speak of himself; but whatsoever he shall hear, that shall he speak: and he will shew you things to come."

This lines up with 1 John 5:7, "For there are three that bear record in heaven, the Father, the Word, and the Holy Ghost: and these three are one." This happened at the Baptism of the Lord Jesus Christ and at the Mount of Transfiguration.

Not back to the number systems series we see in the series that the next number is 15; which has a value in digital math of 6. This accounts for the creation of man on the sixth day. Created from the dust of the earth from

1	2	3	4	5	6	7	8	9		6
10	11	12	13	14	15	16	17	18	Х	6
19	20	21	22	23	24	25	26	27		36
28	29	30	31	32	33	34	35	36		
Sum:	666									

the elements of which the primary element is carbon. The atomic weight of Carbon is 6; with 6 protons, 6 neutrons & 6 electrons. The number of a man in Revelation 13:18, "Here is

wisdom. Let him that hath understanding count the number of the beast: for it is the number of a man; and his number is Six hundred threescore and six." That number is 666.

In dealing with this particular number we see in the verse 18 which is 3×6 the three sixes. And we are told to count the number: so $6 \times 6 = 36$ and when you add all the numbers from 1 to 36 you get 666. While this seems to be a right track of things we must understand the extent of this. Now we read Romans 3:23, "For all have sinned, and come short of the glory of God;" and James 2:10, "For whosoever shall keep the whole law, and yet offend in one point, he is guilty of all." And Leviticus 23:8, "But ye shall offer an offering made by fire unto the

1	2	3	4	5	6	7	8	9			6					
10	11	12	13	14	15	16	17	18		Х	6					
19	20	21	22	23	24	25	26	27			36	+	1	=	37	
28	29	30	31	32	33	34	35	36	37	+	37			Х	73	
Sum:	703										73				2701	

LORD seven days: in the seventh day is an holy convocation: ve shall do

no servile work therein." We see by these that 7 is the number of holiness. And to fall short by ONE would be a 6 the number of man. Now if you add all the numbers from 1 to 36 and get 666 and this being fallen short of one more number then you add 37 to that set of numbers you get 703. Now isn't that strange?

If you were to add these two numbers 36 and 37 you would get 73 the inverse of 37 which is the sum of the

Dec											
Х3											
3	Χ	37	=	111	&	1+ 1+ 1=	3	÷	3	=	1
6	Χ	37	=	222	&	2+ 2+ 2=	6	÷	3	=	2
9	Χ	37	=	333	&	3+ 3+ 3=	9	÷	3	=	3
12	Χ	37	=	444	&	4+ 4+ 4=	12	÷	3	=	4
15	Χ	37	=	555	&	5+ 5+ 5=	15	÷	3	=	5
18	Χ	37	=	666	&	6+ 6+ 6=	18	÷	3	=	6
21	Χ	37	=	777	&	7+ 7+ 7=	21	÷	3	=	7
24	Χ	37	=	888	&	8+8+8=	24	÷	3	=	8
27	Χ	37	=	999	&	9+ 9+ 9=	27	÷	3	=	9

numbers 1 to 37 with a 0 in the middle. And when you multiply 37 by 73 you get 2701. Also a number that is like 37: in adding 2 + 1 and 7 + 0.

That shows a construct of the 37 and the shared values in our sequence.

The number 37 will figure in

all the sets of the triple repetitive digits numbers (TripRipDigts). We have dealt with one of these: 666 and the verse in Revelation 13 that holds the key 18. To make things even more intriguing 6:00 PM in Military time is 1800 hours also giving a clue as to the nature of this number.

The sequences of other systems such as the so called magic squares contain mathematic enigmas that also relate to these things. These are mathematic constants that cannot be altered. Making the start number and incrementation number dynamic in nature we can alter them but the matrices numeric remains in the pattern equal to each other. The 3 X 3 magic square has the

			15		
8	1	6	15	Start:	1
3	5	7	15	Inc:	1
4	9	2	15		
15	15	15	15		

matrix value 15. This is the smallest design for this and starts with a number in our original sequence at 15.

						111		
35	1	6	26	19	24	111		
3	32	7	21	23	25	111		
31	9	2	22	27	20	111	Start:	1
8	28	33	17	10	15	111	Inc:	1
30	5	34	12	14	16	111		
4	36	29	13	18	11	111		
111	111	111	111	111	111	111		

Notice that it has a Digitary Math value of 6; while the 6 X 6 has the Digitary Math value of 3.

The 6 X 6 shown in this example is the only one of its kind that has a value that is a TripRipDigt. And is the same value as 3 X 37 = 111.

When the dynamic start and incrementation values are altered to 6 and 6 we see the matrix value also change to 666.

						666		
210	6	36	156	114	144	666		
18	192	42	126	138	150	666		
186	54	12	132	162	120	666	Start:	6
48	168	198	102	60	90	666	Inc:	6
180	30	204	72	84	96	666		
24	216	174	78	108	66	666		
666	666	666	666	666	666	666		

This is quite a spectacular thing in light of the fact that most sciences start with a randomized evolutionary ideology to explain the nature of chaos; when the opposite is the truth. Randomization comes from order not the other way around. To test this: place 50 pennies on the bed with a tight cover. Place them in 10 rows and 10 columns equally

space apart. Now hit the bed with your fist beside the pennies and see if they randomly stack up or converge into chaos. Now do the same with just scattering the same number of pennies on the bed with no order and do the same experiment from there. You will get the same results: randomized chaos.

	175	175	175	175	175	175		175		
	47	23	6	31	14	39	15	175		
175	10	42	18	43	26	2	34	175		
175	22	5	30	13	38	21	46	175	Start:	1
175	41	17	49	25	1	33	9	175	Inc:	1
175	4	29	12	37	20	45	28	175		
175	16	48	24	7	32	8	40	175		
175	35	11	36	19	44	27	3	175		
	175	175	175	175	175	175	175	175		
	7000	7000	7000	7000	7000	7000		7000		
	1880	920	240	1240	560	1560	600	7000		
7000	400	1680	720	1720	1040	80	1360	7000		
7000	880	200	1200	520	1520	840	1840	7000	Start:	40
7000	1640	680	1960	1000	40	1320	360	7000	Inc:	40
7000	160	1160	480	1480	800	1800	1120	7000		
7000	640	1920	960	280	1280	320	1600	7000		
7000	1400	440	1440	760	1760	1080	120	7000		
	7000	7000	7000	7000	7000	7000	7000	7000		
	777	777	777	777	777	777		777		
	925	37	-592	333	-296	629	-259	777		
777	-444	740	-148	777	148	-740	444	777		
777	0	-629	296	-333	592	-37	888	777	Start:	-777

	///	///	///	///	///	///		///		
	925	37	-592	333	-296	629	-259	777		
777	-444	740	-148	777	148	-740	444	777		
777	0	-629	296	-333	592	-37	888	777	Start:	-777
777	703	-185	999	111	-777	407	-481	777	Inc:	37
777	-666	259	-370	555	-74	851	222	777		
777	-222	962	74	-555	370	-518	666	777		
777	481	-407	518	-111	814	185	-703	777		
	777	777	777	777	777	777	777	777		
	1225	1225	1225	1225	1225	1225		1225		

	1225	1225	1225	1225	1225	1225		1225		
	329	161	42	217	98	273	105	1225		
1225	70	294	126	301	182	14	238	1225		
1225	154	35	210	91	266	147	322	1225	Start:	7
1225	287	119	343	175	7	231	63	1225	Inc:	7
1225	28	203	84	259	140	315	196	1225		
1225	112	336	168	49	224	56	280	1225		
1225	245	77	252	133	308	189	21	1225		
	1225	1225	1225	1225	1225	1225	1225	1225		

1	+	2	&	2	+	5
	3		&		7	
			37			

Now from a different perspective we have a 7 X 7 magic square with the normal matrix of 175. When we alter the start and incrementation to 40 and 40 we see that our matrix is 7000. And this can also be done with 4 and 4 to get 700; or 400 and 400 to

get 70000.

Now if we start with -777 and increment by 37 we arrive at 777. This is because when you start with -888 and increment by 37 the center is 0 with the matrix 888.

There are many other such anomalies in these mathematic constructs that show extreme order and creative intelligence. But for now one more with the 7 X 7 starting with 7 and increment by 7 we see the matrix value of 1225. This seems to be a random number that has little significance. But look closer to this and you will see the 37.

The number is split in the middle with the 1 and 2 on the left and the 2 and 5 on the right. This holds the construct of the value 37. Showing that this number is the center number in all these things and because it has the single value of 1 in that 3 + 7 =

10 and 1 + 0 = 1. Again showing the first three numeric values of our sequence 1, 3 & 7; and shows the evidence for 1 John 5:7 and the Triune Godhead.



Digitary Math:

	Enter	Max 15	Digits												
C73=>		<mark>234568</mark>	9	Digitary Math:			1		COR	RECT					
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	
2	3	4	5	6	8	9	0	0	0	0	0	0	0	0	37
1	2			1	2						Te	est			
3	7	10		1	0	1				Υοι	Enter	ed 7 Di	gits		

The actual code used for the Digitary Math

=IF(D76=0,0,SUMPRODUCT(1*MID(SUMPRODUCT(1*MID(SUMPRODUCT(1*MID(D76,ROW(INDIRECT ("1:"&LEN(D76))),1)),ROW(INDIRECT("1:"&LEN(SUMPRODUCT(1*MID(D76,ROW(INDIRECT("1:"&LEN (D76))),1)))),1)),ROW(INDIRECT("1:"&LEN(SUMPRODUCT(1*MID(SUMPRODUCT(1*MID(D76,ROW (INDIRECT("1:"&LEN(D76))),1)),ROW(INDIRECT("1:"&LEN(SUMPRODUCT(1*MID(D76,ROW(INDIRECT ("1:"&LEN(D76))),1)))),1)))),1)))),1)))),1)))),1)))

This will reduce up to a 15 digit number by adding the digits to a single digit number. (Make sure when using this function that you change C73 to the cell location where your number is to be entered.) Other functions that produce this:

=SUMPRODUCT(1*MID(C73,ROW(INDIRECT("1:"&LEN(C73))),1))
=SUMPRODUCT(MID(C73,ROW(INDIRECT("1:" & LEN(C73))),1))
=SUMPRODUCT(MID(TEXT(SUBSTITUTE(C73,".",""),REPT("0",15)),ROW(INDIRECT("1:15")),1))

Appendix 2

								7	Гimе	es T	able	s Uı	о То	24	× 2 4	ļ								
												•												
0	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24
1	1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17	18	19	20	21	22	23	24
2	2	4	6	8	10	12	14	16	18	20	22	24	26	28	30	32	34	36	38	40	42	44	46	48
3	3	6	9	12	15	18	21	24	27	30	33	36	39	42	45	48	51	54	57	60	63	66	69	72
4	4	8	12	16	20	24	28	32	36	40	44	48	52	56	60	64	68	72	76	80	84	88	92	96
5	5	10	15	20	25	30	35	40	45	50	55	60	65	70	75	80	85	90	95	100	105	110	115	120
6	6	12	18	24	30	36	42	48	54	60	66	72	78	84	90	96	102	108	114	120	126	132	138	144
7	7	14	21	28	35	42	49	56	63	70	77	84	91	98	105	112	119	126	133	140	147	154	161	168
8	8	16	24	32	40	48	56	64	72	80	88	96	104	112	120	128	136	144	152	160	168	176	184	192
9	9	18	27	36	45	54	63	72	81	90	99	108	117	126	135	144	153	162	171	180	189	198	207	216
10	10	20	30	40	50	60	70	80	90	100	110	120	130	140	150	160	170	180	190	200	210	220	230	240
11	11	22	33	44	55	66	77	88	99	110	121	132	143	154	165	176	187	198	209	220	231	242	253	264
12	12	24	36	48	60	72	84	96	108	120	132	144	156	168	180	192	204	216	228	240	252	264	276	288
13	13	26	39	52	65	78	91	104	117	130	143	156	169	182	195	208	221	234	247	260	273	286	299	312
14	14	28	42	56	70	84	98	112	126	140	154	168	182	196	210	224	238	252	266	280	294	308	322	336
15	15	30	45	60	75	90	105	120	135	150	165	180	195	210	225	240	255	270	285	300	315	330	345	360
16	16	32	48	64	80	96	112	128	144	160	176	192	208	224	240	256	272	288	304	320	336	352	368	384
17	17	34	51	68	85	102	119	136	153	170	187	204	221	238	255	272	289	306	323	340	357	374	391	408
18	18	36	54	72	90	108	126	144	162	180	198	216	234	252	270	288	306	324	342	360	378	396	414	432
19	19	38	57	76	95	114	133	152	171	190	209	228	247	266	285	304	323	342	361	380	399	418	437	456
20	20	40	60	80	100	120	140	160	180	200	220	240	260	280	300	320	340	360	380	400	420	440	460	480
21	21	42	63	84	105	126	147	168	189	210	231	252	273	294	315	336	357	378	399	420	441	462	483	504
22	22	44	66	88	110	132	154	176	198	220	242	264	286	308	330	352	374	396	418	440	462	484	506	528
23	23	46	69	92	115	138	161	184	207	230	253	276	299	322	345	368	391	414	437	460	483	506	529	552
24	24	48	72	96	120	144	168	192	216	240	264	288	312	336	360	384	408	432	456	480	504	528	552	576

Appendix 3

Other Studies associated with this topic located at http://biblestudies.av1611kjb.org

- Doctrine The Devils Also Believe
- Doctrine The LORD God Almighty
- > Doctrine The LORD's Name is One
- Doctrine Trinitarianism or Oneitarianism
- ➤ Doctrine Why am I Seeing 111, 222, 333 Just About Everywhere
- Eternal Security How Can you Lose Eternal Life
- ➤ Eternal Security LYES vs BEST
- > Eternal Security The LYES Groups
- Exposé Apostolic Deception
- > Exposé False Apostles
- Exposé Oneness Pentagramacostalism vs. The Godhead
- Exposé Oneness Pentecostalism Part 1
- > Exposé Oneness Pentecostalism Part 2
- Exposé Pentecost is a Jewish Feast Day
- Exposé Questions for Unitarians
- Exposé The Deception of the Charismatic Cult
- Numerology 37th
- Numerology Dynamic Magic Square Matrices
- Numerology Genesis 1-1 The Space Time Continuum & 37
- Numerology Genesis1.1
- Numerology Intro to Numerology & Galatians 3 13
- ➤ Numerology Numerology of Numbers and Their Matrices
- ➤ Numerology The Trinity & 1 John 5.7
- ➤ Numerology Triple Repetitive Digits
- Science Carbon Atomic Structure
- > Science The Bible & Mathematics
- > Science The Mathematics of 1John 5.7-8
- > Theology Biblical Trinitarianism or Oneness Pentecostal Modalism
- > Theology Trinitarianism vs Oneness Pentecostalism
- > Theology The Godhead
- > Theology The Trinitarian Godhead
- > Theology The Trinity